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5. Test the series for convergence or divergence: Yo,

. . n
6. Test the series for convergence or divergence: Y2, =
n

7. Find the equation of the tangent plane to the surface: x> + z%e =9 = 5 at the

point (1, 1, 2). Give your answer in the form of Ax + By + Cz=D.

8. &k _F A% - find the parametric equation of the normal line to the tangent

plane.
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9. y= ad

. Compute the derivative y'.
COosSXx
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10. y = e 2 . Evaluate the second derivative y"'.

11. Determine the derivative for the function y = x*~1. y' =2

12. Find the minimum value of the function f(x) = x — 2sinx, x € [0, «].

The minimum is equal to?

13. Find the slope m for the equation (4 — x)y? = x3 at the point (2,2).

The slope m =?

14. Evaluate the integral [ x*Vx3 + 1dx

15. Evaluate the integral f; %

16. Evaluate the integral | 01 f:y e*” dxdy
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17.

18.

19.

20.

21.

22.

Evaluate the gradient at the point P.  f(x,y) = x%e¥, P(3,0)

Evaluate the integral to calculate the area of the region bounded by two

lines, 3y = 2x + 16 and y = —2x + 8, and a curve y = x2.

Find the volume obtained by rotating the region, bounded by the given

curves x = 2y2, x =2, y = 0, about the y = 2 axis.

The surfaces, f(x, y, z) = 3x*+*+22°>=9 = 0 and g(x, y, z) = x*+2y*+ z>=10
= 0, meet in a curve C. Find the parametric equations for the line tangent

to C at the point P(1, 2, 1).

Find the point P farthest to the origin on the curve of intersection of the

plane x + y + z = 3 and the sphere (x—1)*+ (y=2)*+ (z=3)*=09.

Evaluate

where
ﬁ(m,y,z) —eX {4 z(y+1) 5+ 22k
and C is given by
T)=137+(1—-3t)7+ek, for 0<t<2.



